

M  T  W  T  F  S

H/W  - C/W

Dated:...../...../20.....

Name :- Hayat ahmad Khan

ID # 14486

Assignment :- 2

Subject :- differential Equation.

-: Q1 :-

Part (a)

$$\rightarrow x' = \sqrt{x}$$

Sol

Step 1:-

$$x' = \sqrt{x}$$

x is dependent variable  
t is independent variable

$$\frac{dx}{dt} = \sqrt{x}$$

Step 2:-

Crossides

$$\frac{dx}{dt} = \sqrt{x}$$

$$\frac{dx}{\sqrt{x}} = dt$$

Take integration on bothside

$$\int \frac{dx}{\sqrt{x}} = \int dt$$

$$\int x^{-1/2} dx = \int dt$$

is the constant  
& integration

$$-\frac{1}{2} x^{-1/2-1} = t + C$$

$$\boxed{\frac{1}{2} x^{1/2} = t + C}$$

→ The required solution

## Part (B)

$$x' = e^{-2x}$$

Step 1:-

$$x' = e^{-2x}$$

$$\frac{dx}{dt} = e^{-2x}$$

Multiply b/s by dt

$$dx = e^{-2x} dt$$

Divide b/s by  $e^{-2x}$ 

$$\frac{dx}{e^{-2x}} = dt$$

$$e^{2x} dx = dt$$

Step 2:-

$$e^{2x} dx = dt$$

Take integrated b/s

$$\int e^{2x} dx = \int dt$$

$$\frac{e^{2x}}{2} = t + c$$

Multiply b/s by 2

$$e^{2x} = 2(t + c)$$

Take natural logarithm function from b/s

$$\begin{aligned} \ln(e^{2x}) &= \ln(2t + 2c) \\ &= 2x = \ln(2t + 2c) \\ &= \boxed{x = \frac{\ln(2t + 2c)}{2}} \end{aligned}$$

Part (c)

$$y' = 1 + y^2$$

Step 1 :-

$$y' = 1 + y^2$$

Step 2 :-

$$y' = 1 + y^2$$

$$\frac{dy}{dx} = 1 + y^2 \quad \therefore y' \frac{dx}{dx}$$

$$= dy = (1 + y^2) dx$$

$$\frac{dy}{1 + y^2} = dx$$

integrating both sides

$$\int \frac{dy}{1 + y^2} = \int dx + C \quad \therefore \int \frac{dx}{1 + y^2} = \tan^{-1}(y)$$

$$\tan^{-1}(y) = x + C$$

$$\boxed{y = \tan(x + C)}$$

Step 3:-

general solution of differential equation

$$y' = 1 + y^2 \text{ is}$$

$$y = \tan(x+c)$$

Part (d)

$$u' = \frac{1}{5-2u}$$

Step 1:-

$$u' = \frac{1}{5-2u}$$

$$\frac{du}{dv} = \frac{1}{5-2u}$$

$$(5-2u) du = dv$$

Step 2:-

Now integrate b/s

$$\int (5-2u) du = \int dv$$

$$5u - \frac{2u^2}{2} + C = v + C$$

$$5u - u^2 = v + C$$

$$u^2 - 5u = C - v$$

$$\left[ u^2 - 5u + \frac{25}{4} - \frac{25}{4} \right] = C - v$$

$$\left[ u - \frac{5}{2} \right]^2 = c - v$$

$$\left[ u - \frac{5}{2} \right] = \sqrt{c - v}$$

$$u = \frac{5}{2} + \sqrt{c - v}$$

Step 3:-

general solution is

$$u = \frac{5}{2} + \sqrt{c - v} \quad c \text{ is constant.}$$

Part (e)

$$x' = au + b, \quad a, b > 0$$

Step 1:-

$$x' = au + b \quad \text{--- (1) } a > 0, b > 0$$

$$\text{Step 2:- } \frac{dx}{du} = au + b$$

by variable & separation

$$dx = (au + b) du$$

integration on b/s

$$\int dx = \int (au + b) du + c$$

$$\int dx = \int a u du + \int b du + c$$

$$\int dx = a \int u du + b \int du + c$$

$$x = a \frac{u^2}{2} + bu + c$$

Part (f)

$$Q' = \frac{Q}{4+Q^2}$$

Step 1:-

$$Q' = \frac{Q}{4+Q^2}$$

independent variable be  $t$   
and we have

$$Q' = \frac{dQ}{dt}$$

So equation becomes

$$\frac{dQ}{dt} = \frac{Q}{4+Q^2}$$

$$\frac{(4+Q^2)}{Q} dQ = dt$$

The left side only one variable  $Q$   
& right side only one variable  $t$

So, differential equation  $\frac{(4+Q^2)}{Q} dQ = dt$ .

is a variable separable equation

Step 2:-

$$\frac{(4 + Q^2)}{Q} dQ = dt$$

$$\int \frac{(4 + Q^2)}{Q} dQ = \int dt$$

$$\int \left( \frac{4}{Q} + \frac{Q^2}{Q} \right) dQ = \int dt$$

$$\int \left( \frac{4}{Q} + Q \right) dQ = \int dt$$

$$\int \frac{4}{Q} dQ + \int Q dQ = \int dt$$

$$4 \int \frac{1}{Q} dQ + \int Q dQ = \int dt$$

$$4 \ln |Q| + \frac{Q^2}{2} = t + C$$



Part - (9)

$$x' = e^{x^2}$$

Step 1:-

$$x' = e^{x^2}$$

$$\frac{1}{e^{x^2}} \frac{dx}{dt} = 1$$

$$\frac{1}{e^{x^2}} dx = dt$$

Integrating both sides

$$\int \frac{1}{e^{x^2}} dx = \int 1 dt$$

$$\int e^{-x^2} dx = \int 1 dt$$

Step 2:-

$$\int \frac{1}{e^{x^2}} dx = \int 1 dt$$

$$\int e^{-x^2} dx = \int 1 dt$$

multiply & divided by  $\sqrt{\pi}$ 

$$\int \frac{1}{e^{x^2}} dx = \int 1 dt$$

$$\sqrt{\pi} \int \frac{1}{\sqrt{\pi}} e^{-x^2} dx = \int 1 dt$$

Multiply &amp; divided by ②

$$\frac{\sqrt{\pi}}{2} \int 2 \frac{1}{\sqrt{\pi}} e^{-x^2} dx = \int 1 dt \text{ ----- ①}$$

integral  $\int \frac{2}{\sqrt{x}} e^{-x^2} dx$  is erf(x)

therefore it reduces to  $\frac{\sqrt{x}}{2} \text{erf}(x) = t + C$

where C is constant integration.

$$\boxed{\frac{\sqrt{x}}{2} \text{erf}(x) = t + C}$$

Part (h)

$$y' = r(a-y)$$

Step 1:-

$$y' = r(a-y)$$

Step 2:-

$$y' = r(a-y)$$

$$y' = r(a-y)$$

$$\frac{dy}{dt} = r(a-y)$$

$$\frac{dy}{(a-y)} = r dt$$

Integrating

$$\int \frac{dy}{(a-y)} = \int r dt$$

$$-\ln(a-y) = rt + C$$

$$\ln(a-y) = -rt - C$$

Step 3:-

$$\ln(a-y) = -xt - c \quad \text{for } y$$

$$\ln(a-y) = -xt - c$$

$$e^{\ln(a-y)} = e^{-xt-c}$$

$$a-y = e^{-xt-c}$$

$$y = a - e^{-xt-c}$$

Therefore

general solution of differential equation is

$$y' = \gamma(a-y) \quad \text{is} \quad y = a - e^{-\gamma t - c}$$

-: Q2 :-

Solve  $y' = r(a-y)$ , where  $r$  &  $a$  are constant.

Sol

Step 1:-

$$y' = r(a-y)$$

$$\frac{dy}{dx} = r(a-y)$$

$$\frac{1}{a-y} dy = r dx \rightarrow \text{①}$$

Step 2:-

Integrate equation ①

$$\int \frac{1}{a-y} dy = \int r dx$$

$$-\ln(a-y) = rx + C$$

$$a-y = e^{-rx-C}$$

$$y = -e^{-(rx+C)} + a$$

Step 3:-

$$y = -e^{-(rx+C)} + a$$

-: Q3 :-

Soll :-

Step 1:- 1 (a)

initial value  $x' = \sqrt{x}$ ,  $x(0) = 1$

$$x' = \sqrt{x}$$

$$\frac{dx}{dt} = \sqrt{x}$$

$$\frac{dx}{\sqrt{x}} = dt$$

$$x^{-\frac{1}{2}} dx = dt$$

Step 2:- Integrating

$$\int x^{-\frac{1}{2}} dx = \int dt$$

$$\frac{x^{-\frac{1}{2}+1}}{-\frac{1}{2}+1} = t + c$$

$$\frac{x^{\frac{1}{2}}}{\frac{1}{2}} = t + c$$

$$2\sqrt{x} = t + c$$

Step 3:-

evaluate constant  $c$  using  
initial condition  $x(0) = 1$

$$2\sqrt{x} = t + c$$

$$2\sqrt{1} = 0 + c$$

$$2 = 0 + c$$

$$c = 2$$

Therefore

$$2\sqrt{x} = t + 2$$

Solve the eq<sup>n</sup> for  $x$

$$2\sqrt{x} = t + 2$$

$$(2\sqrt{x})^2 = (t + 2)^2$$

$$4x = t^2 + 4t + 4$$

$$x = \frac{t^2}{4} + t + 1$$

Hence, solution IVP  $x' = \sqrt{x}$ ,  $x(0) = 1$  is

$$x = \frac{t^2}{4} + t + 1$$

Step 4:-

1 (b)

initial value problem  $x' = e^{-2x}$ ,  $x(0) = 1$

$x' = e^{-2x}$  as follow

$$x' = e^{-2x}$$

$$\frac{dx}{dt} = e^{-2x}$$

$$\frac{dx}{e^{-2x}} = dt$$

$$e^{2x} dx = dt$$

Step 5:- Integrate

$$\int e^{2x} dx = \int dt$$

$$\frac{e^{2x}}{2} = t + c$$

evaluate the constant  $c$   
initial condition  $x(0) = 1$

$$\frac{e^{2x}}{2} = t + c$$

$$\frac{e^{2(1)}}{2} = (0) + c$$

$$c = \frac{e^2}{2}$$

Step 6:-

$$\frac{e^{2x}}{2} = t + \frac{e^2}{2}$$

Solve for  $x$

$$\frac{e^{2x}}{2} = t + \frac{e^2}{2}$$

$$e^{2x} = 2t + e^2$$

$$\ln(e^{2x}) = \ln(2t + e^2)$$

$$2x = \ln(2t + e^2)$$

$$x = \frac{\ln(2t + e^2)}{2}$$

Hence solution of the IVP

$$x' = e^{-2x}, x(0) = 1 \text{ is } x = \frac{\ln(2t + e^2)}{2}$$

∴ Q4:-

Find general solution.

(a)  $x' = \frac{2x}{t+1}$

Step 1.  $x' = \frac{2x}{t+1}$

i.e.  $\frac{dx}{dt} = \frac{2x}{t+1}$

$$\frac{dx}{2x} = \frac{dt}{t+1}$$

which is variable separable form

Integrate b/s

$$\int \frac{dx}{2x} = \int \frac{dt}{t+1}$$



$$\frac{1}{2} \log x = \log(t+1) + \log c$$

$$\log x^{1/2} = \log [(t+1) \cdot c]$$

$$x^{1/2} = c(t+1)$$

$$x = c^2(t+1)^2$$

$$\boxed{x(t) = c(t+1)^2} \quad \therefore c = c^2$$

(b)  $\theta' = t \sqrt{t^2+1} \sec \theta$

Step 1:

$$\theta' = t \sqrt{t^2+1} \sec \theta$$

$$\frac{d\theta}{dt} = t \sqrt{t^2+1} \times \sec \theta$$

$$\frac{d\theta}{\sec \theta} = t \sqrt{t^2+1} dt$$

$$\cos \theta d\theta = t \sqrt{t^2+1} dt \quad \because \cos \theta = \frac{1}{\sec \theta}$$

which is variable separable

$$\int \cos \theta d\theta = \int t \sqrt{t^2+1} dt + c$$

Substitute

$$t^2 = x$$

$$2t dt = dx$$

$$t dt = \frac{dx}{2}$$

$$\int \cos \theta d\theta = \int \frac{1}{2} \sqrt{x+1} \times dx + c$$

$$\int \cos \theta d\theta = \frac{1}{2} \int (x+1)^{1/2} dx + c$$

$$\sin \theta = \frac{1}{2} \times \frac{(x+1)^{3/2}}{3/2} + c$$

$$\boxed{\sin \theta = \frac{1}{3} (x+1)^{3/2} + c}$$